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Note: - (1) All questions are compulsory'.
(2) Figures to the right indicate full marks
(3) Ansrver to each question must being on a nerY page

Q.r) Attempt the following (Any 5)
1) Express Z:4+6i in polar form
2)
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Q.2) Attempt the following (Any 4)
1) ifu :Q,2,-t)&Y--6;3,-zj tiraa)d(u,v) b)u-v c)2u+3v cor-A

2) Show that vector Vi:(t,O,t) y2:(2,1,4) V3=(1,1,3 ) do not span ths cor-A

vector space
3) 

L"t A: [? ?l -: [l X1 .:t' 1l o:rz 4 3 1]
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Compute the foliowing if they exists: i)A+B ii) A-B iii)3A
iv)B+2D

l) Find the square root of a complex number : -5+12i cor-A

s) Veri& and check whether the vectors are linearly dependent or not: cor-c

V1:(1,-2,1) Yz:(2,1,-2) Yr(7,-4,1 )
6) WAP to write vector -vector multiplication

Q'3) Attempt the follorving (Any 4)
1) Solve the following using Gauss Elimination method: co2'A

2x*5y*22-3w:3;
4x*5yl14z*74w=1;
3x*6y*52*4w=4;
5x*10y*Bz*4w:4.
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+) Find Coordinate Representation of V :[1,3,5,3] in term of at,aLa3
a1:11,1,0,0] az:[0,1,1,0] a3:[0,0,1,1]

s) Enlist the properties ofvector space
6) WAP to find transpose of matrix

Q'4) Attempt the following (Any 4)
1) Shorts notes on : Internet worm
2) Explain Markov chain process model
:l Verify Pythagoras theorem for :U:(1,0,2 ,-4) Y:(A),4,2)
o) 

Find Eigen value and Eigen vector 
". ^ 

= [: -'r]$ r.t a: [l 1] ",=[-'r] 
,r:ti] rhe. Express the theorem ror

diagonalization and evaluate if
F(t)=C-St2+:t+6

6) Explain the term: i) Minimal polynomial
ii)characteristics polynomial
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